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8. The word "another" is considered to be.....coovvvnnnes
a) an adjective
b) anoun
c) an adverb a
d) a preposition
9. Transition signals give a ........ o coherencs
yvour reader from one idea to the next.
a) phrase
b) paragraph b
c) clause
d) syllable K .
10. The word "that is" is an exampie of ......ccoveee
. a) subordinating conjunctions..
. b) conjunctive adverbs b
c) transition phrases
d) coordinating conjunctions
11. "Even though" is an example of ..o e

-~ a) coordinating conjunctions
b) conjunctive adverbs * d
c) correlative conjuncuons
d) subordinating conjunctmgfs.

2 You need to put a L tesaamndienead
a) full stop

b) comma D |
¢) question mark
.‘F d) hyphen
3. } absolutely must see him, coeee 0ot
therefore b

b) however
- g) forexample  ui, ol Yo
I ~d) asaresult 3 |
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When = short p-rlﬂll’h separ
mnajor section, we call this wpe
a)

r section from anoiy,,
of org-uumion .........
Fung tional uruu:u’nlum
b

spatial organirabot
¢) block organization
o

logical orgamzal yern
The

5 determin€ the type of cause/effec
.......... of the essay ©8
organization you choose.
a) organization
b) topic
<)

style
d)  paragraph

33. The block pattern can have
homelessness.

., such as global warming of
a) complex topics

b) logical topics a
¢) subtopics
d)  debatable topics

"As a result of " is different
bv a

32.

34.

vas a result” because it is folloy
.................... phrase and introduces 2 clause.
a) noun
b) verb a
c) adjective
. d) adverb
. should
35. In order to help your reader follow your:ll:;ﬁﬂs you
variety of cause/effect ....... ... (e.g. as a result).
a) sentences
b) styles

c)

signal words C
d) paragraphs

paragraph
b) phrase

a
c) clause
d) syllable

36. A ............is 2 group of related sentences.
a)
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